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(1) (=) Zn | H,SOsaq | Cu (+)
(2) IEM: 2H " +2e — H,, HAMi:Zn — Zn* +2e, MR : Zn+2HY — Zn?*+ H,
(3) 3 (4) JWikwAl
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(=) Zn | ZnSOsaq | CuSOsaq | Cu (+)

1IEM - Cuzt+2e — Cu, AME:Zn — Zn2t+ 2e, [fiffi : Zn + Cu2t — Zn2+*+ Cu
BB - EARE 0 Zn2t,  IERRMEl-ARE 0 SO.2
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(=) Pb | HaSOsaq | PbO, (+)

1EHE : PbO, + SO42~ +4H"+2e~ — PbSO4+2H,0, H& : Pb+ S04~ — PbSO4+2e”
i## : Pb+ PbO; +2H2S04 — 2PbSOs4 + 2H,0

—IREM (4) 1EAR

(% 45 FF16 2)
EA : Oz + 4H* + 4e~ — 2H,0 , AR : Ho — 2H* + 2e~
IEAR : O2+ 2H20 + 4e” — 40H , il : Ho+ 20H — 2H20 + 2¢~




